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QUESTION 1

Which of the following statements about the network service platform (NSP) is FALSE?
A. Acts as an element management system (EMS) for CPC components

B. Performs fault, performance, and security management

C. Has a northbound interface with the NFV orchestrator (NFVO)

D. Allows monitoring events associated with the NFV environment

Correct Answer: C

QUESTION 2

Which of the following statements regarding CMM external networks is FALSE?
A. External networks terminating on IPDS carry LTE signaling traffic.

B. External networks terminating on IPPS carry 3G user plane traffic.

C. External networks terminating on PAPS carry 3G signaling traffic.

D. External networks terminating on PAPS carry 2G user plane traffic.

Correct Answer: D

QUESTION 3

Which of the following statements regarding CMM intra-VNF redundancy is FALSE?
A. CPPS VMs operate in N+ redundancy model

B. IPDS VMs operate in N+ redundancy model

C. DBS VMs operate in 2N redundancy model

D. NECC VMs operate in 1+1 with quorum redundancy model

Correct Answer: B

QUESTION 4
Which of the following network elements is implemented by the Nokia CPC?
A. Policy and charging rules function (PCRF)

B. Equipment Identity Registration (EIR)
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C. Application Function (AF)
D. eNodeB

Correct Answer: A

QUESTION 5

Which of the following lifecycle management operations is NOT supported by the CMG?
A. Scaling of OAM-VM

B. Scaling of MG-VM in LB mode

C. Scaling of LB-VM in LB mode

D. Healing of OAM-VM, MG-VM and LB-VM

Correct Answer: A
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